See Units M42-11,

M42-13 and M42-17 See Units Ma2-11,

42-13 and M42-17

as
required

OV type arresters
to be pre-installed.

Note:

Control box
may be located
on the pole
below regulator.
If so add the
required amount
of control cable.

Control cabinet

must be grounded

when separated 5'-6" Maximum—
from the

regulator tank.

*Increase to 16'-0" min.
over roadways.

Note: On transformers heavier
than 1500 pounds use unit
M7-11.1

One Voltage Regulator Pole Mounted with

@g PEDERNALES ELECTRIC Pre-Mounted Arresters
COOPERATIVE, INC. Page 1 of 2

Pedernales rawn: approve ate:
“ | CONSTRUCTION ASSEMBLY UNT FREB T8 Tmasas] M7-11




ltem I\Nﬂjtne]éfrl ltem Quantity ltem Description
a 2000262 1 Clevis Anchor Shackle Sml
b 2001328 2 Xarm Fbgls 8
C 2000551 1 Insulator Susp Poly 38KV Cl
d *3000148 4 Locknut 1/2" MF
e *3000153 2 Locknut 5/8" MF
f *3000151 2 Locknut 3/4" MF
g 2000945 1 Switch Reg Bypass 25 KV 600A
h *3000238 2 Washer Sq F2 1/2x2 1/2 11/16 H
j *3000244 2 Washer Sq F 4x1/4 W 13/16H
Kk *¥2000079 4 Bolt Machine 1/2" x 6"
| * 4 Bolt Machine 5/8"
m * 2 Bolt Machine 3/4"
N * As Required {Connectors
0 * As Required [Jumpers
p *¥2001499 | As Required |Wire Copper Clad Steel #2 7 Str

*Denotes "Grab Bag" item. All bolt lengths are dependent on pole class.

See Covered Jumper Chart in Section One of Construction Specifications.

SOURCE

Neutral

/|

Pedernales

—

Tk

2

o

—

LOAD
__—Regqulator
By-pass switch

WIRING DIAGRAM

PEDERNALES ELECTRIC
COOPERATIVE, INC.
CONSTRUCTION ASSEMBLY UNIT

1 |_6ll

4'_0"

i 2"6"

SECTION X-X

One Voltage Regulator Pole Mounted with

Pre-Mounted Arresters
Page 2 of 2

date:
July 25, 2014

drawn:

REB

approved

MJB

M/7-11



1 l_6ll

Soureg —LOAD
—Regulator

& By-pass switch
[

- 2'_6" l 4'_0"

Neutral e
WIRING DIAGRAM

SECTION X-X

See Unit42.11, See Unit 42.11,

4213 and 42.17\ 42.13 and 42.17
al L ’—IC /_n

Neutr;\

=
M

l, h, e—|

=

~ b
§ P OV type |, h, e
|, arresters to
SE2. be pre-installed.

—0p

Note: !
Control box may be PF7=—753 m,j,f

|
3 s
located on the pole v 2 -
below regulator.

If so add the req. } 5'-6" Maximum\

amount of control
cable. Control cabinet

owest
"Unguarded
Rigid Live Part"
(NESC Table 232-2)

18'-0" min——

7 b

must be grounded
when separated from
the regulator tank.

One Voltage R

*Increase to 16'-0"
min. over roadways.

egulator Rack Mounted

gg PEDERNALES ELECTRIC with Pre-Mounted Arresters.

COOPERATIVE, INC.

Page 1 of 2

Pedernales approved

e | CONSTRUCTION ASSEMBLY UNIT MJB

Apritljz,teZ:OQ M 7 = 1 1 . 1




tem Vet Iteml tem Description
Number | Quantity

a | 2000262 1 |Clevis Anchor Shackle Smi

b | 2001328 3 [XamFhls &

¢ | 2000551 L [Insulator Susp Poly 35KV Cl

d | *3000148 2 |Locknut 12" MF

e | *3000153 2 |Locknut5/8" MF

f ] *3000151 4 |Locknut 34" MF

0 | 2000945 L |Switch Reg Bypass 25KV 600A
h | *2000238 §  (WasherSqF21/2x2 112 1L/16H
|| 3000244 6 |Washer S F 4x1/4 W 13/16H
k| *2000079 2 |BoltMachine 112" x 6'

| ' 2 |Bolt Machine 58"

m ' 4 |Bolt Machine 34"

| * |AsRequired |Connectors

0 * |AsRequired |Jumpers

D | *2001499 |As Required Wire Copper Clad Steel#2 7 Str

*Denotes "Grah Bag" item. Allbolt lengths are dependent on pole class.

See Covered Jumper Chart in Section One of Construction Specifications.

/|

Pedernales

PEDERNALES ELECTRIC
COOPERATIVE, INC.
«_ CONSTRUCTION ASSEMBLY UNIT

One Voltage Regulator Rack Mounted

with Pre-Mounted Arresters.

Page 2 of 2

drawn: date:

approved

August 1, 2014

M7-11.1



See Units M42-11, See Units M42-11,

M42-13, and M42-17\ %RMZ-'] 3, and M42-17
im—a__\_‘:::rwr::lil A

Source a-\ /‘ a Load

=S~ fL

I

Install center

pole if weight

of individua
regulators exceeds
4500 pounds each.

Groundline

Pre-Mounted Lightning Arresters

COOPERATIVE, INC. Page 1 of 3

Pedernales drawn: approved date:

e | CONSTRUCTION ASSEMBLY UNIT FREB T MUB Tmiszozl M7-13

Pﬂ PEDERNALES ELECTRIC Three Voltage Regulators Platform Mounted with




As Relquired

. Regulator By-pass switch

Source Load

Lightning — Lightning

Arrester-\ {1 /Arrester

Wiring
Diagram

é‘ COOPERATIVE, INC.

l

Groundline

Pre-Mounted Lightning Arresters

Page 2 of 3

Pﬂ PEDERNALES ELECTRIC Three Voltage Regulators Platform Mounted with
I

Pedernales drawn:

approved

date:

o | CONSTRUCTION ASSEMBLY UNT I RER

MJB

April 6, 2012

M7-13



Material
Number

ltem Quantity

ltem Description

2000262

Clevis Anchor Shackle Sml

2001306

Xarm 5 3/4" x 7 3/4" x 18'

2000551

Insulator Susp Poly 35KV Cl

*3000148

Locknut 12" M F

*3000153

Locknut5/8" M F

*3000151

Locknut 3/4" MF

3000632

Platform Xfmr 16'9"

2000945

Switch Reg Bypass 25KV 600A

*3000238

Washer Sq F 2 1/2x 2 1/2 11/16H

*3000239

Washer Sq 2 1/2x2 1/2 13/16 H

*2000077

Bolt Machine 1/2" x 10"

*2000091

Bolt Machine 5/8"

*2000083

Bolt Machine 3/4"

*3000188

Screw Lag 1/2" x 4"

S |o|S|IB|—|F|—|ojae|——|o|a|lo ||

2001499 | 13 Pounds |Wire Copper Clad Steel #2 7 Str
*Denotes "Grab Bag" item. All bolt lengths are dependent on pole class.
See Covered Jumper Chart in Section One of Construction Specifications.

i & L
e WMM Shasss

—— e ————————————

\\\\\\\\\\\\\\\\e\\ NSNS
S \\\\\\

Pre-Mounted Lightning Arresters

COOPERATIVE, INC. Page 3 of 3

Pedernales drawn: approved date:

CONSTRUCTION ASSEMBLY UNT FREB | MUB Imiszzl M7-13

g‘g PEDERNALES ELECTRIC Three Voltage Regulators Platform Mounted with




See Units M42-11,

M42-13, and M42-1 7N 87
= =

Source ’4 \ a\

e S A ﬁ]

See Units M42-11,

h, | h, |

h, |

/\

22 O" 56 Ou (4| 8")—

2 Oll

A A

12.0"

56 Oll 4| 8“)—

12.0"

-22.0'

A f

Neutral

—

———=68.0" (5'-8")——

—

—68.0" (5'-8")———28.0"

— T

Install center pol

if weight of individual
regulators exceeds
4500 pounds each.

P ” PEDERNALES ELECTRIC
@‘ COOPERATIVE, INC.

Groundline

Three Voltage Regulators Platform Mounted with
Pre-Mounted Lightning Arresters for Upper
Circuit of Double Circuit Lines

Page 1 of 3

Pedernales

drawn:

approved

date:

ceencere e | CONSTRUCTION ASSEMBLY UNIT

REB

MJB

April 6, 2012

M7-14




UNIT C1-2

UNIT C9-3N

40.0"

As Re‘quired ! Neutral of

| 4 Unit C1-2

Source Regulator Load
1, By-pass switch

Lightning /7 Lightning
Arrester ] Arrester
Pre-mounted\ [ [Pre—mounted

Wiring Diagram

Groundline

Three Voltage Regulators Platform Mounted with

@g PEDERNALES ELECTRIC Pre-Mounted Lightning Arresters for Upper

Circuit of Double Circuit Lines

COOPERATIVE, INC. Page 2 of 3

Pedernales rawn: approve ate:
“cencn | CONSTRUCTION ASSEMBLY UNIT | RER M JBd wisxzl M7-14




Material
Number

ltem Quantity

ltem Description

2000262

Clevis Anchor Shackle Smi

2001306

Xarm 5 3/4" x 7 3/4" x 18'

2000541

Insulator Pin type Cl 55-7

2000551

Insulator Susp Poly 35KV ClI

*3000148

Locknut1/2" M F

*3000153

Locknut 5/8" M F

*3000151

Locknut 3/4" M F

2000626

Pin Xarm 1 3/8" Thd Reg

2000632

Platform Xfmr 16'9"

2000945

Switch Reg Bypass 25KV 600A

*3000238

Washer Sq F 2 1/2x2 1/2 11/16H

*3000329

Washer Sq F 2 1/2x2 1/2 13/16H

*

Bolt Machine 1/2"

*

Bolt Machine 5/8"

*

Bolt Machine 3/4"

*3000188

Screw Lag 1/2" x 4"

=lelclo|c|3|—|x[—|T|j|=|lo|a|lo |T|®

¥2001499

As Required

Wire Copper Clad Steel #2 7 Str

*Denotes "Grab Bag" item. All bolt lengths are dependent on pole class.

See Covered Jumper Chartin Secion One of Construction Specifications.

</

Pedernales
Electric Cooperative, Inc.

PEDERNALES ELECTRIC
COOPERATIVE, INC.
CONSTRUCTION ASSEMBLY UNIT

a

Three Voltage Regulators Platform Mounted with

Pre-Mounted Lightning Arresters for Upper
Circuit of Double Circuit Lines

date:
April 6, 2012

approved

MJB

M7-14




Side View

Note: Install center brace
if Total Equipment
weight exceeds

Groundline

13,500 pounds.

Top View

==
@ Ll é!

i
X =R IRa

i I i
WER715722 10
=

AN
\\&\\\\\

\\\\\\\\\\\\\\\\ T

ltem Description

i B i i i
i NIETY. S S—————. -
===l =
| + ¥

Material ltem Quantity

ltem
Number
2000632 1

Platform Xfmr 16'9"
Regulator or Transformer Rack

od M7-20

approved
April 20, 2012

PEDERNALES ELECTRIC

CEE COOPERATIVE, INC.
CONSTRUCTION ASSEMBLY UNIT FREE 1115

Pedema]es
ic Cooperative, Inc.




NN N S
% \\,\/ \\////\/ 2 % o —/_
AN A/ ANANNN A AN \\/// c X o M
MR e EEANE
AN o 2248
N s R
RN fx HE
\///\\//\\v \\///\\/ S| ¥ o |
/\\v \\///\\//\\ mu“ 2 & muu glo
S Sa1 B EE
o Ll 3
A slzig| | ¢
m _w = o |l O
20§ 1E
a|Z |k S|
a5l
SRR e
KK
N
MK
XN

Z E=
© =z
_mU
S
_DlnB
® &
Z W
Ow
O <

2002713
REV| A |DATE|02/19/2021 | REVISION | ISSUE FOR CONSTRUCTION

MATERIAL NUMBER
2002887

N RN
RO

RN

ITEM
A
B

W



Material
Number

ltem Quantity

ltem Description

2000945

P g PEDERNALES ELECTRIC
CE COOPERATIVE, INC.

Pedernales

1

Switch Reg Bypass 25 KV 600A

Regulator Bypass Switch

drawn:

approved

date:

CONSTRUCTION ASSEMBLY UNIT ¥ RS

MJB

July 30, 2012

M7-30



	Cover Sheet
	M7-11 M7-11 (1)
	M7-11 M7-11 pg 2
	M7-11.1 M7-11
	M7-11.1 M7-11 pg 2
	M7-13 M7-13 Page 1 (1)
	M7-13 M7-13 Page 2 (1)
	M7-13 M7-13 Page 3 (1)
	M7-14 M7-14 Page 1
	M7-14 M7-14 Page 2
	M7-14 M7-14 Page 3
	M7-20 M7-20 (1)
	M7-30

